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99 (Relation) : =t o7, 9 x <@ G16 A <R 56T y @9 (16 B. FOAR A x B &€ 7947 {(x,y)} &= 75 0T e @
A x|B ={(x, y); x€A, yeB} &8I% =l 3o 270 | 47, A ¢ B @63 9% R &A1 rafe | 48 R =&l 9 {6 (=1 91965 @RI
AT A x B| GIGF 3 (x, y) (EICS &= P(x, y) 3o Al =T 20O A | 9T P(x, y) @l x 8 y @ L F99F (@R | x 8 y
TS T P(x, y) IS5 TR x 8 y FIFS 9 2¢ P(x, y) 77 99 | To4I R < A x B

AYRTS R = {xe€A, yeB, P(x,y)} 7IA1 S 3o® F41 =7 | aRb @3 9L =7 a, b @3 T 7F® | aRb =T P(a,b) 1) =3 | W_E
P(a, b) 717 =0=T aRb =3 | 99T, xeA, yeB = R = {(x, y) | (x, )€ AxB} WHE x € y I 71 =(7 (x, y) ¢ R G
oI9S @es 7oy |

Tuee s 8 A = {1, 2, 3, 4} 4R B = {1, 3, 5} 16 @16 fean1 F | G5 o7 FeeAR wver, AxB = {1, 2, 3, 4} x {1, 3, 5}
={(1,1), (1,3), (1, 5), (2, 1), (2, 3), (2, 5), (3, 1), (3, 3), (3, 5), (4, 1), (4, 3), (4, 5)}

A GT63 (@ (T TAWIT B (67 (@ (@ SAMITHR (5T (BT ST 0T SIS GFfo G156 F 2190+ i |
wodq, F = {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)}

w302 F (07 JEQE TSR AT TAMT A (6 (AF IR o T4 B (6 (A0F (T TR @F AN AW o
TAMITTR (50 (RI6 2T | ATF6E 901 =X ,F G50 A (A0F B G0 U6 97 | OIFH HZC NN 3o [efefresicy 36« Fare /i<

F={(x,y) | xeA, yeBaR x <y}
TCET, F 16 AXB FITSA @& (067 @6 210 e F —AxB



TRk e M A = {2, 3, 4, 5} @R B = {3, 6, 7, 10} it <16 Reav= 54 |

A G5 (@ F@ AW) QAT B (G007 (@ AN [Aeey T SItHd N(9© FCJ o dra el =4 ¢

G RO AR JAT A0S FACEGRTTR @6 D 67 34 | o«q, D = {(2, 6), (2, 10), (3, 3), (3, 6), (5, 10)}

92 D GT610 BT Sae [ereme! R0 I T AR | D FII6 B9 FACSCRTEAR =T W A (63 7T 8 feory W B (67
Ty IR AN #iW @il feela #iw fqeier |

QICS D G616 A (6 (TS B (106 GF(0 o8 @R D={(x, y) | x€A, yeB R x 7= y erey} | 892, D < AxB

T WS WS FATE 126 @6 T 107 a0 iR A @R B UG G620+, FICSAT @90 (6 AxB @3
(I O] TATGIGS A (T B-(S GG S7 (relation) I¢=T1 A (A0F B @9 R < A X B.

IR, A GT6 20T AXA GF (I SN SATTG A FIL6 G0 g I67 T | QTSP g7 I I GHIEE TS0 Ghio (76 |
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OIS (SIS U< (F8 (Domain and Range of relation) : S¥G AW @SRcEeelem &2w Sowi feg afde
CTHCF TIER (O «Je el ToAmeafe e 2fde e T9ER @6 0 |

47, A GT6 (A0 B @6 F 36 Sgdl, IR F AXB, F (06 SEQS TSGR AN SAMPRRS GIo0F F ae (St
R @SR AR EIBCF F U9 (78 J=11 = | F G (SIS (B1N F GR @& (@& F =02 SREFCo dhm 47 27 |

TATRAY © ¢ 0] SRAky @ Afe =@ F = {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)} <= ©I € @& 77 7 |
e 8 F = {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)}
F 9 59T OSSR & SAMESTER 6 {1, 2, 3, 4} 4R fasly TAmmesi &6 {3, 5)

oo9d, (eIt F = {1, 2, 3, 4} 9 & F = {3, 5}

o S .
[ AT (Inverse relation):

I A G5 (ACF B GG U6 997 F =, O F U SEORTAR &N SAWEE o AW @ fToiy SoAm=es 2w

- AW 90 0 FACEITed G B @16 (A0F A (06 F @7 oo <= 391 =7 | Ot F-! 74 o 341 =3 |

Tore F = {(1, 3), (1, 5), (2, 3), (2, 5), (3, 5), (4, 5)} o"ez= fqoidrs ==z F-! =1
s o F1 = {(3, 1), (3, 2), (5, 1), (5, 2), (5, 3), (5, 4)} &R

o 997 F-! 99T (©I 8 (@8 20J I F 990@0d @8 S (S |




F*9 (Function):

FIRFCHT ARG (SJRE NN )8 @B RO «h0a SRS FIAT 0T | W (I O3 ORGSO FACEI0LF A2 Tl fog
fof 20T 9T U2 2o TAMHRE 7fG oy @Rree M ACF |, ©F @ T T 6 2T |

IR A (6 (ATF B (6 G0 1 F (F FRHT I 269, I A (63 oG T2 SRR W GRCeeee &= SAMIC
SRYE (P GIR TS 2T TAM fog fog =7 |

TIE F : A — B 2SS Q-1 & 1 27 |

e A={-2,-1,0,1,2} @B ={4,1,0,1, 4} EF ={(x,y) | xeA, yeB @R y=x2}

wdiie F = {(=2, 4), (=1, 1), (0, 0), (1, 1), (2, 4)} (G T FACT (T AT @, F LI I TACSNOLTR S TAMI fog
o @32 ST TAmmef fNeg A5 G5 A @3 JNW | TOUF FG SN, F TG0 GFG FIHT | OreeT A (6 FIRHTH (S0 |

> 4




FRHTHF RG[ (DFICFS ARIET): M x GG AE 5o G y S b1 2 GR 8 o138 x 7 2lfofb fog fo I/ Tita=
) A 5 y GF AW GIR (FIET AW ARG BT N 16T AW, ©CF TR pepi«r=is AHHTE TR 0o1ira @0 FIRHAT 0T LTS
y (F x OF TRHAT 1 =7 | 3CF y = f(x) 20 S0 40 =7 | QAT x T 0T O9F y [TOTHe | FICS2 x ZOR AT 55 ARy
S 5 |

s £ R — Ragey Y= () =3X+L y=1(x) =vx*+1; y=f(x) =|x-1 a4
TR | 9 58f | R — R @9 &y y = f(X) :i\/x2 4 2 TRATT | @ x AfSb N &5 y G gl
T AT I @ x = 27 Y = F(2) = ++/2%2 +2 = +/6 .

TRHACHI TR (EIOF AR ): T S, A @ B 76 S G156 | I A @ B 7 W45 O3 G515 FoFY@ 27 (@, TS A &9
ATSIHIG AW x, B @3 (I = (FIF GFF 2 y G AL @A (8 0, O R FWHFHCP TR 0T | BT, A GU6F @6
TAMIC & B (P00 (@ @6 SATIT A OR AFIHF SAMIE AFCS ARCI 9 | O A GT6F AFIHF SAMICT &5 B
GG Go GAM ARFCS AT | A GTHF x TAWE B EI6F @ SAMITT AC 79i{Fe Ot £(x) T, o(x) A, W(x) I, g(x) =t

Jfoe 41 = | S TR #rI A8 £ : A—B, A, @ : A—B, y : A—B Ty |
SwegeEgel: [ 3fe g (At 7l I @, A GT6F SAMI 2, B GIC6F 9o AW 6 @10 &F A 77IF© | [[E A G063

TS 3, B GIC6F Bv S2WE 3 W3R 6 «F A 90 | ok A G B GF TGFF FoF HIRAT 7 |
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ATATT-3 ¢ A6 T TR CF WSS (GIoARC LB 9 A3 FGID TIH e L= 37 ¢
T={(x,y); x€A, yeA dR x-y = 1} @5 A ={-3,-1,0, 1, 2}

AT 8 ATOJF x€eA I &) x—y = 1
q,y = x =1 @3 T 47 8

X -3 —1 0 ] 2
y = x -1 —4 -2 -1 0 ]

o8 -4¢A, -2¢A odd (-3, —4)eT, (-1, =2)eT

T = {(O: —1 )I (]I O)l (21 ])}
TFIHTH LR, (FIN TG G2 2N TAMWRE 75 o @eeie w AT & TG T 27 |
odS, T S0 G0 FRH |
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5. A ={1, 2, 3, 4} GG 2tz B ={1, 3, 5} b 3o S @G =,
@ACT S ={(x, y) ; XxEA, yeB &R x+y =7}. S (F TEICTT CIHHRC A 9 |
3. AMG S SR (BT «3R ([ i 77 8
(i) S ={(2, 1), (2, 2), (2, 3)}
(ii) S = {(_31 8): (_21 3): (_] ’ O)I (21 3)}
(iii) S = {(_31 _3)1 (_] e )I (Ol ])}
©. &G S IGAF STl Aaiore 061 F7 e (TN S € @& S &y 4 |
@T A ={-2,-1,0, 1, 2}, S ={(x,y); x€A, yeA @R x+y =1}
8. gWg T S0 WACSICS GIoHe! o1 a3 Sqao T foar oefa <
@S A ={-2,-1,0, 1, 2}; T={(x,y); x€A, ycAaRy = x?}
€. N Trelqa WAF @16 @R S ={(x,y) ; xeN, yeN dR 2x+y=10} T, T (AF S FNCHICTH
o S B @R T (S R (@& ey 39 —







